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1-1

1-1
9,724 375 1,384 0 11,483
9,020 768 1,682 0 11470
8,359 689 1,967 6 11,021
7,595 481 1,257 8 9,341
6,729 386 1,496 52 8,663
12,000 f| = —
10,000 = __ —
8,000 | = || E
6,000 | B EEERE E
4,000 a B EEE
2,000 1 HBEBEERR
o L PR N N )
1-1
1-2
7,290 1,072 3,121 11,483
6,610 1174 3,686 11,470
6,243 1,035 3,743 11,021
5,806 1,281 2,254 9,341
5,448 1,264 1,957 8,663
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02

485,300] 374,200 16,600 92,500 2,000
55 201,200] 169,900 9,000 21,800 700
56 15 273,600] 200,800 6,600 65,200 1,200
10,400 3,700 1,100 5,500 100
436,700] 371,000 13,600 50,800 1,200
55 186,000 169,000 6,600 10,100 600
56 15 241,300] 198,300 5,800 36,400 400
9,100 3,700 1,100 4,300 0
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| 0
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m|m
1-7
1-4
762,148 4.79 0.60 0.44
12,4631 48,035 859 | 7,453 1,125 | 4,427
12,191 6.33 0.31 0.19
653 238 35 6 21 4
75,046 8.96 0.59 0.73
6,354 | 737 419 41 524 53
264,490 23,018} 8.70 1,111 042 1,851 0.7
112 - - _
2,574 - - -
289] 0.02 12 0 0
4,213] 0.28 382 0.03 2141 0.01
1,481,663
137,005 9.25 17,759 1.2 14,596] 0.99
6399 0.43 0 0 0 0




3357] 7631 364 94 1,507 203 55 1821] 133 1212] 26865] 4585
181 476 1 0 19 1 0 0 2 74 1531 0
27 67 0 0 7 0 0 0 0 0 181 0
6 23 0 0 3 0 0 0 0 0 57 0
90 188 0 0 17 0 0 0 0 0 574 0
14 50 0 0 4 0 0 0 0 0 104 0
4 9 0 0 2 0 0 0 0 0 34 0
1,295 2837 78 16 591 65 8 0 5 136 8,253 0
690] 2238 3 0 409 47 2 0 8 186 9961 0
194 526 1 0 138 14 1 0 2 74 1413 0
296 624 6 1 342 42 0 0 46 2,221 0
62 391 0 0 33 3 0 0 46 925 0
437] 1106 2 0 127 12 3 0 4 117 3,059 0
327] 1384 0 0 398 44 2 0 4 117 3,647 0
154 317 0 0 36 4 0 0 2 74 1072 0
250 528 0 0 136 13 0 0 1 46 1617 0
60 128 1 0 42 4 0 0 0 0 427 0
5 673 0 0 2 0 0 0 0 0 1,198 0

0 160 0 0 0 0 0 0 0 0 306 0
23 119 0 0 14 2 0 0 0 0 261 0
25 180 0 0 8 0 0 0 0 0 704 0
0 18 0 0 0 0 0 0 0 0 36 0
12 46 0 0 0 0 0 0 0 0 108 0
8 16 0 0 0 0 0 0 0 0 52 0

0 0 0 0 0 0 0 0 0 0 0 0
59 378 0 0 26 1 0 0 1 46 837 0
0 0 0 0 0 0 0 0 0 0 0 0

0 29 0 0 0 0 0 0 0 0 58 0

0 0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0 0 0
14 85 0 0 7 0 0 0 0 0 207 0
27 79 0 0 11 1 0 0 0 0 203 0
140 294 2 0 57 5 0 0 0 0 832 0
37 126 0 0 32 2 0 0 0 0 260 0
0 0 0 0 0 0 0 0 0 0 0 0
68] 3919 0 0 6 0 0 0 2 74 7.755 0
26] 1928 3 3 10 1 0 0 0 0 4,093 0
197 658 5 0 24 3 0 0 2 74 1,506 0
27 272 0 0 0 0 0 0 0 0 597 0
57 601 1 0 16 2 0 0 1 46 1422 0
8 138 0 0 3 0 0 0 0 0 235 0
107 801 0 0 60 5 0 0 2 74 1889 0
17 143 0 0 11 1 0 0 0 0 281 0
142 411 0 0 117 12 0 0 1 46 1242 0
47 333 0 0 4 0 0 0 0 0 705 0
35 208 0 0 12 0 0 0 0 0 525 0
171 606 0 0 77 7 1 0 2 74 1,640 0
45 178 7 0 40 2 0 0 0 0 552 0
556] 1163 9 1 167 19 1 0 2 74 5.446 0
58 124 0 0 3 0 0 0 0 0 349 0
105 218 0 0 6 0 0 0 0 0 803 0
8 18 0 0 1 0 0 0 0 0 74 0
16 333 0 0 5 0 0 0 0 0 615 0
4 9 0 0 0 0 0 0 0 24 0

0 0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0 0 0
1,749] 10814 169 123 1,557 193 33 753 96 975] 29.897] 1814
173 624 0 0 31 4 2 0 2 74 1403 0
159 913 1 0 72 7 1 0 2 74 2179 0
316 260 0 0 0 0 2 0 4 117 999 0
200 615 0 0 60 6 1 0 3 97 1544 0
91 213 0 0 60 7 0 0 1 46 637 0
0 913 0 0 0 0 0 0 0 0 1,450 0
46 292 0 0 24 2 0 0 1 46 702 0
17 359 0 0 5 1 0 0 0 0 616 0
103 150 0 0 15 2 0 0 2 74 471 0
121 95 0 0 0 0 0 0 2 74 352 0
12.463] 48035 653 238] 6354 737 112 2574] 289] 4.213] 137.006] 6.399
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Qr(kN) P(kN) P Qr
r P
X 2Qra 2Pa
2Qrb 2Pb
y 2Qr 2P
2Qr 2P
r P
X 1Qra a
1Qrb Pb
v 1Qr
1Qr
10 10
2 2 2
4 4 4
0.3mm
2 2 2
1 1
1 1
1 1
2 2
2 2 2
2 2 2
1 1
2
1 |
0.7 0.7
]
P E D|Pd Px ExD Qr
kN kN kN Pd Qr
X 2Px 2EX or 13
Y 2Py 2EY
X 1Px 1EX or
Y 1Py 1Ey
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12mm
90 45 2
12mm
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9mm 9 5mm
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D13 3 750mm
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12mm 9 5mn 90 45
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90 45 (
12mm 45 90
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12mm 45 90
12mm 46 90
12mm 90 45
12mm
12mm
12mm
12mm
12mm
12mm 9.5mm
3 12mm
12mm 9.5mm
3 3 9.5mm
9mm 12mm
2 270 750 3 Omm 10
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6-1 ( ) 1]
[ 56 61
110.96 100.19 211.15
[ |
4 35x 105 35x 105 35x 105
9mm 9mm 9mm
[ |
[} ()
832,000 13
861,000
254,000
1,947,000
97,350
2,044,350
[ |
0.65 1.32 1.5
0.73 1.63 1.0 1.5
0.32 1.13 0.7 1.0
0.97 1.13 0.7
[ |
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: 8 (] C )
100.19
110.96
211.15
: 2.90 2.90
: 0 O 7] 56 1981 O
B 10 O 10
: 0 O 7] 61 1986 O
S O ]
@ : ( )
0 = 0 | .
®) @10 015 v
© C
(©) 105 mm  x 105 mm  ( )
(e) 105 mm  x 105 mm  ( )
® : M O
@ « ) 1460
™) C 4
@ |
@ =9
® : M a ( )
[O) : M a ( )
)
C
() : M a ( )
©
® 1 M a ( )
(m) (Ml ) C *m?) (m) (/M ) (GLD)
5 X 20.93| 20.89 20.93| 20.89
y 24.57| 24.52 24.57| 24.52
) X 17.75| 16.00 21.39| 19.28
y 22.30| 20.10 22.30| 20.10
- &4 [m]
0.9 (1.0 or 0.9)
7.280
7.280 ( 1.00)
1.32
( )
a 7] a a
7] a a a
a a
a
() (m a
7] a a
a
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100.19

N =<

o

~ <

5,460

Q)

No.

i O

T ol

I

"l r BUT Qs
J&i i
’T‘ o m“’:/ o

#

sl

o,

~
|y
\

\
|
E
|
|
|

]

1,485

1.83%

5,008

3,840

25.25

24.63

26.49

18.63

(kN/m) 5.8]3.9

4.3

2.4

9.8
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kN7 ) (kN7 ) kN)
2 r

100.19 |x (| 0.367 0.343 |)x 0.9 1.0 | x 1.00
64.02
1 r

110.96 |x (| 0.678 0.343 |)x 0.9 1.0 | x 1.00
101.96

YA

r
(kN ) (kN ) kN)
2 ra

25.25 |x (| 0.367 0.343 |)x 0.9 1.0[ x 1.00
16.13
1 ra

26.49 |x (| 0.678 0.343 |)x 0.9 1.0[ x 1.00
24.34
2 rb

24.63 |x (| 0.367 0.343 |)x 0.9 1.0[ x 1.00
15.74
1 rb

24.84 |x (| 0.678 0.343 |)x 0.9 1.0[ x 1.00
22.83
2 r

26.49 |x (| 0.367 0.343 |)x 0.9 1.0[ x 1.00
16.93
r

28.28 |x (| 0.678 0.343 |)x 0.9 1.0[ x 1.00
25.99
2 r

18.63 |x (| 0.367 0.343 |)x 0.9 1.0] x 1.00
11.90
1 r

28.02 |x (| 0.678 0.343 |)x 0.9 1.0[ x 1.00
25.75

YA

Rf1=100.19/110.96=0.902

2
1

0.28K2
0.72K1

1.19+0.11/Rf1=1.19+0.11/0.902=1.311
0.40+0.60Rf1=0.40+0.60x 0.902=0.941
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.28x 1.311=0.367
.72%x 0.941=0.678




Q
> f i
=3 Pwi) =0.25Qr (=Pw+Pe)
(KN/m) | (kN/m) (kN) (kN) (kN) (KN)
35x 105 4.80
omm 5.20
9.80 1.00 3.640 35.67
A 1.20
35.67 6.09 41.76
35x 105 3.80
2.40
6.20 0.60 3.185 11.85
35x 105 1.90
2.40
4.30 0.70 3.640 10.96 40.28
2.40
2.40 1.00 7.280 17.47
35x 105 3.80
2.70
7.70 0.60 0.910 4.20
1.20
35x 105 1.90
2.70
5.80 0.70 0.910 3.69 13.37 5.71 19.08
1.20
35x 105 1.90
2.40
4.30 0.70 1.820 5.48
89.32 25.49 114.81
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0
s f i
=S Pwi) | =0.25Qr | (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (kN)
35x 105 3.80
2.70
7.70 0.60 5.460 25.23
1.20
2.70
1.20
3.90 0.80 1.820 5.68 33.09 6.50 39.59
2.40
2.40 1.00 0.910 2.18
35x 105 3.80
2.70
7.70 0.60 2.275 10.51
1.20
35x 105 1.90
2.40
4.30 0.70 2.730 8.22 23.10
2.40
2.40 1.00 1.820 4.37
35x 105 4.80
omm 5.20
9.80 0.80 1.820 14.27
1.20
35x 105 1.90
2.70
5.80 0.70 3.640 14.78 33.42 6.44 39.86
1.20
2.40
2.40 1.00 1.820 4.37
89.61 25.49 115.10
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[}
5 i
=3 Pwi) | =0.25Qr (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (kN)
35x 105 4.80
9mm 5.20
9.80 .00 2.730 26.75
‘f* 1.20
35x 105 1.90
2.40
4.30 .25 2.730 2.93 38.85 4.03 42.88
2.40
2.40 .70 5.460 9.17
35x 105 1.90
2.70
5.80 .25 0.910 1.32
1.20
35x 105 1.90
2.40
4.30 .25 1.820 1.96 6.34
2.40
2.40 .70 1.820 3.06
35x 105 1.90
2.70
5.80 .25 2.73 3.96
1.20
35x 105 4.80
9mm 5.20
9.80 .00 1.82 17.84 23.33 3.93 27.26
A 1.20
2.40
2.40 .70 0.91 1.53
68.52 16.01 84.53
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[}
5 f i
=3 Pwi) | =0.25Qr (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (kN)
35x 105 4.80
9mm 5.20
9.80 1.00 (x| 3.185 31.21
f‘ 1.20
2.70
1.20
3.90 0.35 [x| 2.730 3.73 38.00 4.23 42.23
2.40
2.40 0.70 x| 1.820 3.06
35x 105 1.90
2.40
4.30 0.25 x| 5.005 5.38
2.40
2.40 0.70 x| 3.640 6.12 11.50
X
35x 105 1.90
2.70
5.80 0.25 x| 3.185 4.62
1.20
2.40
2.40 0.70 x| 1.820 3.06 38.89 2.98 41.87
35x 105 4.80
9mm 5.20
9.80 1.00 (x| 3.185 31.21
* 1.20
88.39 16.01 104.40
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]
Qr(kN) P(KN) P Or
Qra 16.13 [ 2Pa 42.88 2.66
X 1.00
Qrb 15.74 [ oPo 27.26 1.73
Qr 16.93 [ P 42.23 2.49
Y 1.00
Qr 1.9 [ o 41.87 3.52
Qra 24.34 | Pa 41.76 1.72
X 1.00
1Qrb 22.83 [ Po 19.08M  0.84
Qr 25.99 39.59 1.52
Y 1.00
Qr 25.75 39.86 | \ 1.55
10 10
2 2 2
4 4 4
0.3mm
2 2 2
1 1
1 1
1 1
2 2 2
2 2 2
2 2 2
1 1
2 2 2
21 0.0
1 | » 1.00]
| | 0.7
v ]
P E D|Pd PxExD Qr
kN kN kN Pd Qr
X 2Px | 84.53 | 2EX 1.00 1.00 84.53 1.32
Qr| 64.02
Y 2Py | 104.40 | 2Ev 1.00 1.00 104.40 1.63
X 1Px | 114.81 | «Ex 1.00 1.00 114.81 1.13
Qr | 101.96
Y 1Py | 115.10 | 1Ev 1.00 1.00 115.10 1.13
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1.5
1.0 1.5
0.7 1.0
0.7

1.13

X 0.65 1.32

Y 0.73 1.63

X 0.32 1.13

Y 0.97 1.13

1.0
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6-2 ( ) ]
[ | 45 54
110.16 81.00 191.16
[
45x 105
[
] )
170,000
1,760,000
250,000
190,000
280,000
2,650,000
132,500
2,782,500
[
0.47 1.21 1.5
0.53 1.17 1.0 1.5
0.71 1.07 0.7 1.0
0.86 1.07 0.7
[
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O O
: O (2)
81.00
: 110.16
: 191.16
: 3.00 3.00
- g a 45 1970 a
M 10 O 10
- g a 54 1979 a
: ™ a O
@ : ( )
| g |
® - @ 1.0 0O 15
© C )
@ 105 mm x 105 mm  ( )
(e) 105 mm x 105 mm  ( )
@ - [ O 105 x 36 105 45 v
() « ) VP (
) C )
O)
a) :
© : ™ O ( )
m - O (9000 x 900 )
(m
C )
(D) : ™ a ( )
(©)
® : ™ O ( )
(n) C/my ) | D () (] ) | P
2 X 24.15( 29.81 24.15( 29.81
Y 17.25| 21.30 17.25| 21.30
R X 21.90| 19.88 21.90| 19.88
Y 27.45| 24.92 27.45| 24.92
™ O
0.9 (1l.00r 0.9)
9.000
9.450 ( 1.00 )
1.80
( )
O O & O
™ O O O
O O
O
a [E] a
l O O
™
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Y
(
110.16 .
C )
A o R ! Mo
3,125 £ 25 a4, 112.5
2, 100 w1 1, 800 400 1, &0 1, 800 001,
2 b
o o
B O
L
8l
3
. iE
g 2 E:
g o I
i l:'
A
5 E o
- [e
]
| A ] I
e 1,800 809 1. 808 R i, 400 1, 360
(o] x| LEL
(o= m | . B (05K 36 SaEHEY | CHED) - R SEL
[ | memw | K+ FEAL 105 36 TIDT — mHbEE 5
X Y
27.19 29.41
24.15 25.21
(kN/m) 98|9.8|7.9178]3.0|28[22]9.8]19.7|9.8|3.1]9.8]4.8]29
o o
(@) o O o) o
O O (@] (@] (@] (@] (@]
o o o o o o | o o |
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81.00 N
C )
FREE - l o s R B Do
747 4,050 2,478
{, 800 2, 860 s e s | o 400
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8 =
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g
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g | 2 Bl &
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I
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AR o
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[T | meziw | 0O — WM ExH OO B LR AR OIS R
X Y
19.04 22.28
17.42 17.82
(kN/m) 9.8|28122]|97|78|81|20|4.7]16.9]|7.8]|9.2
o | o | o
o o o
o o o o
o
o o |o o o | o o |«
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kN7 ) (kN7 ) kN)
2
81.00 |x (| 0.375 0.468 |)x 0.9 |x 1.0 | x 1.00 r
61.45
1 r
110.16 |x (| 0.605 0.468 |)x 0.9 |x 1.0 | x 1.00
106.38
YA
r
kN7 ) (kN7 ) kN)
2 ra
19.04 |x (| 0.375 0.468 |)x 0.9 | x 1.0 | x 1.00
14.45
1 ra
27.19 |x (| 0.605 0.468 |)x 0.9 |x 1.0 | x 1.00
26.26
2 rb
17.42 |x (| 0.375 0.468 |)x 0.9 | x 1.0 | x 1.00
13.22
1 rb
24.15 |x (| 0.605 0.468 |)x 0.9 | x 1.0 | x 1.00
23.32
2 r
22.28 |x (| 0.375 0.468 |)x 0.9 | x 1.0 | x 1.00
16.90
29.41 |x (| 0.605 0.468 |)x 0.9 |x 1.0 | x 1.00 r
28.40
2 r
17.82 |x (| 0.375 0.468 |)x 0.9 | x 1.0 | x 1.00
13.52
1
25.21 |x (| 0.605 0.468 |)x 0.9 | x 1.0 | x 1.00 r
24.35
YA
Rf1=81.00/110.16=0.735
2 0.28K2 1.19+0.11/Rf1=1.19+0.11/0.735=1.339 0.28x 1.339=0.375
1 0.72K1  0.40+0.60Rf1=0.40+0.60x 0.735=0.841 0.72x 0.841=0.605
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(kN/m)

>

(kN/m)

=3 Pwi)
(kN)

=0.25Qr
(kN)

(=Pw+Pe)
(k)

36x 105

.90

36x 105

.90

.70

9.80
(11.90)

0.900

36x 105

.90

.70

.20

9.80

0.900

.70

.20

7.90

2.100

11.61

.70

.10

7.80

3.150

17.20

.60

rlrloa|lr|lrla|lkr|lrlalr|rlrlalr]lr|k]~

3.00

0.900

43.31

49.88

2.80

0.80 |x

9.000

20.16

2.20

1.00 (x

0.900

1.98

22.14

36x 105

.90

.70

9.80
(10.00)

1.800

12.35

36x 105

.90

.70

.10

(&2 0 I I N S B I B

9.70

0.70 |x

2.250

15.28

27.63

33.46

93.08

26.60

119.68
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9
> f i
=% Pwi) | =0.25Qr | (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (kN)
36x 105 1.90
1.70
9.80 0.70 |x| 2.700 18.52
C ) 1.40 | (10.00)
5.00
36x 105 1.90
1.70
9.80 0.70 |x| 1.350 9.26
1.60 | (10.20)
5.00 43.58 7.10 50.68
36x 105 1.90
1.70
4.80 0.70 [x| 3.150 10.58
1.20
1.70
1.20 | 2.90 0.80 |x| 2.250 5.22
1.60
3.00 0.80 |x| 2.700 6.48
C ) 1.40
C ) 1.40
2.80 0.80 |x | 5.400 12.10
C ) 1.40
28.73
C ) 1.10
2.20 1.00 |x| 3.600 7.92
1.10
1.70
3.10 0.80 |x| 0.900 2.23
C ) 1.40
36x 105 1.90
36x 105 1.90
1.70 | 9.80 0.70 |x| 0.900 6.17
11.90
C ) T
5.00
C ) 1.40
«C ) 1.40 | 2.80 0.80 |x| 2.700 6.05
20.37 6.09 26.46
C ) .10
1.10 | 2.20 1.00 | x| 0.900 1.98
36x 105 1.90
36x 105 1.90
1.70 | 9.80 0.70 |x | 0.900 6.17
T 10 | (11-60)
5.00
92.68 26.60 119.28
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9
5 f i
=5 Pwi) | =0.25Qr | (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (kN)
36x 105 1.90
1.70
9.80 0.50 [x| 3.600 17.64
« D 1.40 | (10.00)
5.00
45% 105 3.20
45x 105 3.20
7.80 0.50 [x| 1.200 4.68 22.32 3.61 25.93
« ) 1.40
C ) 1.40
« D 1.40
2.80 0.35 x| 9.450 9.26
14.80
«C ) 1.10
1.10
2.20 0.70 x| 3.600 5.54
36x 105 1.90
1.70
9.80 0.50 [x| 2.70 13.23
« D 1.40 | (10.00)
5.00
36x 105 1.90
1.70
9.70 0.50 [x| 0.90 4.37
1.10
5.00
1.70
1.10
7.80 0.50 [x| 0.90 3.51 25.99 3.31 29.30
5.00
1.70
« D 1.40
8.10 0.50 [x| 0.90 3.65
5.00
1.9
1.96 0.70 [x| 0.9 1.23
63.11 15.36 78.47
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0
b3 f i
= Pwi) | =0.25Qr | (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (kN)
36x 105 1.90
1.70
9.80 |x [ 0.50 |x| 0.900 4.41
« ) 1.40 | (10.00)
5.00
36x 105 1.90
1.70
9.70 |x [ 0.50 |x| 1.800 8.73 16.65 4.23 20.88
1.10
5.00
1.70
1.10
7.80 |x | 0.50 [x| 0.900 3.51
5.00
36x 105 1.90
1.70
9.80 |x [ 0.50 |x| 1.800 8.82
« ) 1.40
5.00
« ) 1.40
« ) 1.40 | 2.80 [x | 0.35 |x| 1.500 1.47
«C ) 1.10
1.10 | 2.20 [x | 0.70 |x| 1.800 2.77
34.86
36x 105 1.90
« ) 1.40
4.70 |x | 0.25 [x| 2.700 3.17
« ) 1.40
45x 105 3.20
45x 105 3.20
9.20 x| 0.50 |x| 4.050 18.63
C D 1.40
C 1.40
36x 105 1.90
36x 105 1.90
1.70 | 9.80 [x | 0.50 |x| 1.800 8.82
11.
C > 140 | 4150
8.82 3.38 12.20
5.00
60.33 15.36 75.69
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]
O — o
Q — :
Qr(kN) P(kN) P Qr
2Qra 14.45 2Pa 25.93 1.79
X 1.00
2Qrb 13.22 2Pb 29.30 2.22
2Qr 16.90 2P 20.88 1.24
Y 1.00
2Qr 13.52 2P 12.20 0.90
1Qra 26.26 Pa 49.88 1.90
X 1.00
1Qrb 23.32 Pb 33.46 1.43
1Qr 28.40 50.68 1.78
Y 1.00
1Qr 24.35 26.46 1.09
10 10
2 2 2
4 4 4
0.3mm
2 2 2
1 1
2
2 2 2
2 2
1
2 2
21 1
1 | 0.95
0.7 0.7
]
P E D|Pd Px ExD Qr
kN kN kN Pd Qr
X oPx | 78.47 | 2:EX 1.00 0.95 74.55 1.21
Qr| 61.45
Y 2Py | 75.69 | 2EY 1.00 0.95 71.91 1.17
X 1Px | 119.68 | 1EX 1.00 0.95 113.70 1.07
Qr | 106.38
Y 1Py | 119.28 | 1Ey 1.00 0.95 113.32 1.07
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1.5
1.0 1.5
0.7 1.0
0.7
1.07
X 0.47 1.21
Y 0.53 1.17
X 0.71 1.07
Y 0.86 1.07

-87-




0O~ ~

- oo

L]

/
o No-H @w-o e Nm.mHH mo.mw m@-o @w-o oo-H wN.mHH Nw.mm A
o L0°T 1.0 0L°€TT [S6769  [S670 9870 00°T 89°6TT |[vE°T18 X
o x |11 £5°0 sp'19  |yscg |PBTTL |66 |96°0 98°0 00°T 69°G.  |8T°¥E A
o x 1271 L¥°0 65'v.  |oeT9z  [s670 9870 00°T G0 8L |LL70V X
10 pd [((COE) adx3xd (W)pd 3 (vDd
00°T 60°T €670 9v°9z (L6702 [6079 G9°§ 1702  [ze7ST 00v's [se v (85722
8L°T 07T 89705 [s279¢ o2 6579 85°€y  |9T°0€ 0sv'6 |or'82 [rE 9z
00°T S 8870 or'ee  |TT°6T [€8°¢ T7°S €9°/2 |oL°¢€T 0507 [eeez  |€9°T¢
06°T 1171 88°6y [€679¢ [2979 6079 1€y [¥870C 0$6°L [92°92 |seTve
00°T 0670 G7°0 0272l [S§°S 8e°¢ L0°¢€ 28°8 87" 008°'T |eseT |Lz°TT
v 1 2570 88°02 [L67L €Ty v8 ¢ G9°9T [eT°¥ 009°¢ |06°9T |rE°ST
001 S0 44K4 8870 0£°62 |esToT  [1e€ 00°¢€ 66762 |e57L 00€°9 |22 €T |66°TT
6.1 6570 €676 |82 19°¢ 8z°¢ ze7ee  |os v 0087 [009°¢ |[syvT  |TT°ET
10 d (8d+md) d (v ad (nvDmd W)y 10
10
Ge'vz  [85°¢z  [89r°0  [06£70 G090 12762
ey | Nm.mH NN.NH wmv.o omm.o mNm.o N@.NH
or'82 |ve9z [89r°0 [06€°0 G09°0 17" 62
06°9T [ve"ST  [89v°0 |06£°0 G/E°0 82722
. . Ze7ez (€971 [89v 0  |06E°0 G09°0 GT° Y2
00779 100°¥9 Z¢°€T  [66°TT  [89Y°0  |06£°0 G/ET0 v LT
e | [ @N.@N mm.wm wmv.o omm.o moo-o @H.NN
Sy vl [TT°€T  [89¢°0  |06€°0 G/E70 ¥0°6T
(DA C /) C /N )
8£°90T [S9°86 00°T 0T 670 89¥°0  [06£°0 G090 9T°0TT
G 19 |LL°SS 00°T 0T 670 8970  [06€70 G/E70 00718
(N0 C /v C /v [@D)
)

-88-



6-3 (
1.0
[ | 53
89.84 41.40 131.24 50mm
[
[
] )
24,000
640,000
132,800
796,800
39,840
836,640
[
0.81 1.46 1.5
0.98 1.68 1.0 1.5
1.04 1.16 0.7 1.0
1.26 1.30 0.7
[
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O O
: a « )
41.40
89.84
: 131.24
: 2.90 2.90
- g a 53 1978 a
M 10 O 10
- g a a O
: a O
@ : ( )
O O
(b) . 1.0 O 1.5
(©) C )
@ 105 mm x 105 mm  ( )
(e) 105 mm x 105 mm  ( )
) : O
©)] C ) 1460
(h) C D) A
(i) |
a) : =9
() : 0 M ( 3.64 1.82m)
m : a ( )
(m)
C )
n) - g ( 30.0 )
(0)
()] : a ( )
(n) (/M )| (m) (/] ) | P
2 X 9.10| 21.98 9.10[ 21.98
Y 11.83| 28.57 11.83| 28.57
1 X 15.01| 16.71 15.01| 16.71
Y 18.19| 20.25 18.19| 20.25
O
1.0 (1l.00r 0.9)
5.460
7.280 ( 1.15)
0.00
( )
O O O O
O O O
O O
O
O [ O
a a a
O
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89.84

(] i
SAREK

(P
k]

F
TR

MRS

24.42
19.87

5.3

16.56
20.28

No.

)

(

4812429

(KN/m)
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41.40

7. Iad 3. fid 1, mn
W E me
1. 365 T10 k:sb]
2 ran & fan
| |
T T I ——
Bar| %
= Ky fy
®
-k =)
=% Tl
e
#
=
-
B8
Ea
bty "B
-
[o
.
[ -
L

No.

9.10

7.03

8.28

10.76

(KN/m) 5.8 3.9 5.3
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(kN/ ) (kN/ ) kN)
2 r

41.40 |x (| 0.400 0 |)x 1.0 1.0 | x 1.00
16.56
1 r

89.84 |x (| 0.487 0 |)x 1.0 1.0 | x 1.15
50.31

VA

r
(kN/ ) (kN/ ) kN)
2 ra

9.10 (x (| 0.400 )x 1.0 1.0] x 1.00
3.64
1 ra

16.56 |x (| 0.487 )x 1.0 1.0 x 1.15
9.27
2 rb

8.28 |x (| 0.400 )x 1.0 1.0[ x 1.00
3.31
1 rb

20.28 |x (| 0.487 )x 1.0 1.0] x 1.15
11.36
2 r

7.03 [x (| 0.400 )x 1.0 1.0] x 1.00
2.81
r

24.42 |x (| 0.487 )x 1.0 1.0] x 1.15
13.68
2 r

10.76 |x (| 0.400 )x 1.0 1.0[ x 1.00
4.30
1 r

19.87 |x (| 0.487 )% 1.0 1.0] x 1.15
11.13

VA

Rf1=41.40/89.84=0.460
0.28K2
0.72K1

2
1

1.19+0.11/Rf1=1.19+0.11/0.460=1.429
0.40+0.60Rf1=0.40+0.60%x 0.460=0.676
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[
s f i
=3 Pwi) | =0.25Qr | (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (kN)
30 90 1.90
1.20
4.80 0.70 0.910 3.06
1.70
30 90 2.40
1.20
5.30 1.00 1.820 9.65 12.71 2.32 15.03
1.70 -
/
2.40
2.40 1.00 8.645 20.75
20.75
30 90 1.90
1.20
4.80 0.70 0.910 3.06
1.70
2.40
2.40 1.00 1.820 4.37 12.25 2.84 15.09
30 90 2.40 [T
1.20
5.30 1.00 0.910 4.82
1.70
45.71 12.58 58.29
15.015
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[
s f i
=% Pwi) | =0.25Qr | (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (kN)
30 90 1.90
1.20
4.80 0.70 4.090 13.74
1.70
1.70
1.20
2.90 0.80 1.820 4.22| 22.33 3.42 25.75
2.40
2.40 1.00 1.820 4.37
2.40
2.40 1.00 5.005 12.01
12.01
30 90 1.9
1.20
4.80 0.70 2.730 9.17
1.70
1.70 | 2.90 0.80 0.910 2.1
1.20
18.29 2.78 21.06
2.40 | 2.40 1.00 0.910 2.18
30 90 2.40 \*
1.20
5.30 1.00 0.910 4.82
1.70
52.63 12.58 65.20
18.195
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[
> f i
=X Pwi) =0.25Qr (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (KN)
30 90 1.90
1.20
4.80 0.25 0.910 1.09
1.70
30 90 2.40
1.20
5.30 1.00 0.910 4.82 5.91 0.91 6.82
1.70
30 90 1.90
1.20
4.80 0.25 1.820 2.18
1.70
2.40
2.40 0.70 2.730 4.59 6.77
30 90 1.9
1.20
4.80 0.25 0.910 1.09
1.70
2.40
2.40 0.70 0.910 1.53 7.44 0.83 8.27
30 90 2.40 [T
1.20
5.30 1.00 0.910 4.82
1.70
20.12 4.14 24.26
9.100
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[
> f i
=X Pwi) =0.25Qr (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (KN)
30 90 1.90
1.20
4.80 0.25 1.820 2.18
1.70
30 90 2.40
1.20
5.30 1.00 0.910 4.82 7.00 0.70 7.70
1.70
/
30 90 1.90
1.20
4.80 0.25 0.910 1.09
1.70
2.40
2.40 0.70 4.550 7.64 8.74
30 90 1.9
1.20
4.80 0.25 1.820 2.18
1.70
1.70
1.20
2.90 0.35 0.910 0.92 7.92 1.08 9.00
30 90 2.40 [T
1.20
5.30 1.00 0.910 4.82
1.70
23.66 4.14 27.80
11.830
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]
O o
O o
Qr(kN) P(kN) P Qr
2Qra 3.64 2Pa 6.82 1.87
X 1.00
2Qrb 3.31 2Pb 8.27 2.50
2Qr 2.81 2P 7.70 2.74
Y 1.00
2Qr 4.30 | 2P 9.00 2.09
1Qra 9.27 Pa 15.03 1.62
X 1.00
1Qrb 11.36 Pb 15.09 1.33
1Qr 13.68 25.75 1.88
Y 1.00
1Qr 11.13 21.06 1.89
10 10
2 2 2
4 4 4
0.3mm
2 2 2
1 1
1 1
1 1
2 2 2
2 2 2
2 2 2
1 1
2 2 2
21 0.0
1 | » 1.00]
| | 0.7
v ]
P E D|Pd Px ExD Qr
kN kN kN Pd Qr
X Px | 24.26 | 2EX 1.00 1.00 24.26 1.46
Qr| 16.56
Y 2Py | 27.80 | 2Ev 1.00 1.00 27.80 1.68
X 1Px | 58.29 | 1EX 1.00 1.00 58.29 1.16
Qr| 50.31
Y 1Py | 65.20 | iEv 1.00 1.00 65.20 1.30
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1.5
1.0 1.5
0.7 1.0
0.7

1.16

X 0.81 1.46

Y 0.98 1.68

X 1.04 1.16

Y 1.26 1.30

1.0
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6-4 ( [ ]
1.0
n 63
102.68 74.53 177.21
|
+
+
|
L )
310,000
1,044,000
200,000
1,442,000
360,000
3,356,000
167,800
3,523,800
[
0.34 2.00 15
0.46 2.08 1.0 1.5
0.43 1.09 0.7 1.0
0.87 1.93 0.7
|
2

-102-




o o0ooooood

-103-



o O
: O « )
: 74.53 74.53
: 102.68 102.68
s 177.21 177.21
: 3.00 2.90
- Od O O
10 O 10
O O 63 1988 a
: O O
@ : ( )
O O
(b) - 1.0 O 1.5
(©) : C )
(d) 105 mm x 105mm  ( )
(e - 105 mm x 105 mm  ( )
) - O 30x 90mm
() C ) 1460
Q) C )
(i)
ad : PB
(9] O ( )
[O) : O ( )
(m) :
: C )
(n) : ( 21.0 )
(0) - 450
() : O ( )
m JCm] i (m (/M) )| Cmd)
2 X 16.08| 21.58 16.08| 21.58
Y 20.48| 27.48 20.48| 27.48
1 X 16.17| 15.75 17.08| 16.63
Y 30.63( 29.83 30.63( 29.83
: O
0.9 (1.0 or 0.9)
8.190
9.100 ( 1.00)
1.50
( )
O O O
O O O
O
O
O O O
a a a
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X Y
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74.53
!
!
2
8 1
2
3
9 1
8
8o
o
0
= (o
! t
2,730 ‘910‘ 5,460
O No. i
X Y
18.63 18.63
18.63 18.63
A B C D E F G
(kN/m) 2.0 28|24 9.817.9 9.8 8.3
o o
o ) o ) )
o ) o )
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A KN/ ) KN)
2 r
74.53 |x (| 0.375 0.390 )x | 0.9 1.0 |[x | 1.00
51.31
1 r
102.68 | x (| 0.605 0.390 )x | 0.9 1.0 |[x | 1.00
91.95
r
A KN/ ) KN)
2 ra
18.63 |x (| 0.375 0.390 x| 0.9 1.0 [x | 1.00
12.83
1 ra
30.02 |x (| 0.605 0.390 )x | 0.9 1.0 [x | 1.00
26.88
2 rb
18.63 |x (| 0.375 0.390 x| 0.9 1.0 |[x | 1.00
12.83
1 rb
12.63 |x (| 0.280 0.390 |)x | 0.9 1.0 |x | 1.00
7.62
2 r
18.63 |x (| 0.375 0.390 [)x | 0.9 1.0 |x | 1.00
12.83
22.77 |x (| 0.605 0.390 [)x | 0.9 1.0 |x | 1.00 r
20.39
2 r
18.63 |x (| 0.375 0.390 |)x | 0.9 1.0 |[x | 1.00
12.83
1
30.02 |x (| 0.605 0.390 |)x | 0.9 1.0 [x | 1.00 '
26.88

Rf1=74.53/102.68=0.725
1.19+0.11/Rf1=1.19+0.11/0.725=1.34 0.28x 1.34=0.375
0.40+0.60Rf1=0.40+0.60% 0.725=0.84 0.72x 0.84=0.605

2
1

0.28K2
0.72K1
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0
> i
=X Pwi) =0.25Qr (=Pw+Pe)
(KN/m) | (kN/m) (kN) (kN) (kN) (KN)
1.70
12 5.20
9.80 .80 (x| 1.820 14.27
5.5 1.00
30x 90 2.40
17.91 6.72 24.63
5.5 1.00
5.5 1.00
2.00 .00 (x| 1.820 3.64
5.5 1.00
2.90
9.80 .80 x| 0.910 7.13
12 5.20
30x 90 2.40
5.5 1.40
5.5 1.40
9.80 .80 (x| 4.550 35.67
12 5.20
30x 90 2.40
59.99
5.5 1.00
2.00 .00 (x| 2.730 5.46
5.5 1.00
5.5 1.40
2.40 .00 |x| 2.522 6.05
5.5 1.00
5.5 1.00
3.90 .80 (x| 1.820 5.68
2.90
1.70
12 5.20
9.80 .80 x| 0.910 7.13
5.5 1.40
30x 90 2.40
7.13 1.91 9.04
85.03 22.99 108.02
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s f i
=X Pwi) | =0.25Qr (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (kN)
1.70
12 5.20
9.80 80 |x| 2.730 21.40
2.90
30x 90 1.90
1.70
12 5.20 | 9.80 .80 |x| 1.820 14.27
2.90 67.05 5.10 72.15
1.70
12 5.20
9.80 .80 |x| 3.640 28.54
5.5 1.00
30x 90 2.40
5.5 1.00
3.90 .80 [x| 0.910 2.84
2.90
1.70
12 5.20 | 8.30 .80 |x| 3.185 21.15
5.5 1.40
5.5 1.00
2.00 .00 ([x .910 1.82
5.5 1.00 42.4
5.5 1.40
2.40 .00 [x 775 6.66
5.5 1.00
5.5 1.00
3.90 .80 x| 4.095 12.78
2.90
1.70
12 5.20 | 9.30 .80 |x | 1.820 13.54
30x 90 2.40
1.70
12 5.20
9.80 .80 [x| 3.640 28.54
5.5 1.40
30x 90 2.40
58.36 6.72 65.08
1.70
12 5.20 | 8.30 .80 x| 1.697 11.27
5.5 1.40
5.5 1.00
1.00 .00 |x| 2.275 2.28
5.5 1.40
2.40 .00 [x _137 2.73
5.5 1.00
167.82 22.99 190.81
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[
> f i
=X Pwi) =0.25Qr (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (KN)
1.70
12 5.20
9.80 1.00 3.640 35.67
5.5 1.00
30x 90 2.40
1.70
12 5.20 7.90 1.00 0.910 7.19
5.5 1.00
1.70
68.16 3.21 71.37
12 5.20
9.80 1.00 0.910 8.92
5.5 1.40
30x 90 2.40
1.70
12 5.20 8.30 1.00 1.820 15.11
5.5 1.40
5.5 1.00
2.00 0.70 0.910 1.27
5.5 1.00
5.5 1.00
2.00 0.70 0.910 1.27
5.5 1.00
5.5 1.40
2.80 0.35 3.640 3.57 6.37
5.5 1.40
5.5 1.40
2.40 0.70 0.910 1.53
5.5 1.00
1.70
12 5.20
9.80 1.00 0.910 8.92
5.5 1.00
30x 90 2.40
1.70
12 5.20
9.80 1.00 0.910 8.92
5.5 1.40
22.90 3.21 26.11
30x 90 2.40
1.70
12 5.20 8.30 1.00 0.610 5.06
5.5 1.40
97.43 12.83 110.26
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)3 f i
=3 Pwi) =0.25Qr (=Pw+Pe)
(kN/m) | (kN/m) (kN) (kN) (kN) (KN)
1.70
12 5.20
9.80 1.00 | x| 6.370 62.43
5.5 1.00
30x 90 2.40
5.5 1.00
2.00 0.70 |x| 0.910 1.27
5.5 1.00
63.70 3.21 66.91
1.70
12 5.20
7.90 1.00 |x| 0.910 7.19
5.5 1.00
5.5 1.00
2.00 0.70 | x| 5.005 7.01
5.5 1.00
20.19
5.5 1.40
2.80 0.35 |x| 4.550 4.46
5.5 1.40
5.5 1.40
2.40 0.70 |x| 0.910 1.53
5.5 1.00
1.70
12 5.20
9.80 1.00 |x | 1.820 17.84
5.5 1.40
30x 90 2.40
17.84 3.21 21.05
101.73 12.83 114.56
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]
Qr(kN) P(kN) P Qr
2Qra 12.83 2Pa 71.37 5.56
X 1.00
2Qrb 12.83 2Pb 26.11 2.04
2Qr 12.83 2P 66.91 5.22
Y 1.00
2Qr 12.83 2P 21.05 1.64
1Qra 26.88 Pa 24.63 0.92
X 1.00
1Qrb 7.62 Pb 9.04 1.19
10r 20.39 72.15 3.54
Y 1.00
10r 26.88 65.08 2.42
10 10
2 2 2
4 4 4
0.3mm
2 2 2
1 1
1 1
1 1
2 2 2
2 2 2
2 2
1
2 2
15 1
1 | 0.93
0.7 0.7
1]
P E D|Pd PxExD Qr
kN kN kN Pd Qr
X oPx | 110.26 | .Ex | 1.00 0.93 102.54 2.00
Qr| 51.31
Y 2Py | 114.56 | =Ey | 1.00 0.93 106.54 2.08
X 1Px | 108.02 | :Ex | 1.00 0.93 100.46 1.09
Qr| 91.95
Y 1Py | 190.81 | :Ey | 1.00 0.93 177.45 1.93
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1.5
1.0 1.5
0.7 1.0
0.7
1.09
X 0.34 2.00
Y 0.46 2.08
X 0.43 1.09
Y 0.87 1.93
1.5
1460
1.09
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30.64

X3

5,460
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I o
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— Y1
2,730 | 2,730 2,730
] 8,190
‘
3,020
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2.73x 6.37 5.46x 3.64 37.26
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O
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(kN7 ) (kN7 ) kN)

2
2 30.64 |x ( 0.371 0.343 PDx | 0.9 |x 1.0 (x| 1.00 '

19.69

1

1 37.26 |x ( 0.643 0.343 [)x 0.9 |x 1.0 | x | 1.00 '
33.06
z
S2 30.64
Rfl = S2/S1 = 0.822
S1 37.26
Rf1: 0.1 0.1
3.10 kN/
0.280 0.400 0.640
0.28K2 = 0.371 0.40K2 = 0.64K2 =
0.72K1 = 0.643 0.92K1 = 1.22K1 =
3.12 K1 K2
K1 0.40 + 0.60RfL = 0.893 0.53 + 0.47Rf1 =
K2 1.19 + 0.11/Rf1 = 1.324 1.06 + 0.15/Rf1 =
kN/
(15 ) 8.5 0.343 1.000 0.343
(15 ) 8.5 0.343 1.000 0.343
1.32
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[
S f P i
=2 Pwi) =0.25Qr (=Pw+Pe)
(kN ) [ (kN ) (kN) (kN) (kN) (kN)
) 2.70
30*90 1.90
5.80 0.70 5.460 22.17
( ) 1.20
) 2.70
( ) 1.20
3.90 0.80 0.910 2.84
29.38 8.27 37.65
( ) 1.20
( ) 1.20
2.40 1.00 1.820 4.37
0
S f P i
=2 Pwi) =0.25Qr (=Pw+Pe)
(kN ) [ (kN ) (kN) (kN) (kN) (kN)
) 2.70
30*90 1.90
5.80 0.70 7.280 29.56
( ) 1.20
) 2.70
( 1.20
3.90 0.80 0.910 2.84
41.14 8.27 49._41
( 1.20
( 1.20
2.40 1.00 3.640 8.74
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0
5 f P i
=2 Pwi) =0.25Qr (=Pw+Pe)
KN/ ) [N/ ) kN) (kN) (kN) (kN)
) 2.70
30*90 1.90
5.80 0.25 7.280 10.56
( ) 1.20
( ) 1.20
( ) 1.20
2.40 0.70 3.640 6.12
16.68 4.92 21.60
0
5 f P i
=2 Pwi) =0.25Qr (=Pw+Pe)
KN/ ) [ (kN ) (kN) (kN) (kN) (kN)
) 2.70
30*90 1.90
5.80 0.25 5.460 7.92
( 1.20
) 2.70
( 1.20
3.90 0.35 2.730 3.73
14.71 4.92 19.63
( 1.20
( 1.20
2.40 0.70 1.820 3.06
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kN/

1.43
2.15 1.43
2.00
2.60 2.00
3.23
2.85 3.23
) P78
) P259
0.013x  kN/ o
0.013x 132 = 1.72 KN/
30°
2 —
= 1.43 + 1.72 = 3.15 KW
= 96.52 kN §_o|>
= 25044 o |
> 96.52
5 264.69 |1.es]
= = 2.742
> 96.52 4,550
3.15 x ( 2.73x 6.37 ) = 54.78 x 3.185 = 174.47
3.15 x ( 3.64 x 3.64) = 41.74 x 1.820 = 75.97
b2 = 96.52 z = 250.44
3.15 x ( 2.73x 6.37 ) = 54.78 x 1.365 = 74.77
3.15 x ( 3.64x 3.64 ) = 41.74 x 4.550 = 189.92
b2 = 96.52 z = 264.69
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6.370
5—

3.640
4 —"

2.730
3

0.910
2

0.000
1

= 183.27 kN
b3 459.39 s
= 2.507 =
b3 183.27 |
b3 597.26
3.259 1365
b3 183.27 4,550
7,280
2F 96.52 = 96.52 x 2.595 = 250.47
2,15 x ( 2.73x 6.37 ) = 37.39 x 3.185 = 119.09
2.15 x ( 3.64x 3.64 ) = 28.49 x 1.820 = 51.85
3.15 x (1.82x 3.64 ) = 20.87 x 1.820 = 37.98
> = 183.27 > = 459.39
2F 96.52 = 96.52 x 2.742 = 264.66
2.15 x ( 2.73x 6.37 ) = 37.39 x 1.365 = 51.04
2.15 x ( 3.64 x 3.64 ) = 28.49 x 4.550 = 129.63
3.15 x ( 1.82 x 3.64 ) = 20.87 x 7.280 = 151.93
> = 183.27 > = 597.26
() 6.370
: 4.550
i ¢ )s )
‘ I ‘ ) () 3.640 ~
~ A A v2 3.185 ~ ) A~ )
™ I “ “ ) ~ .
)
: : vi 0.000 : :
) ) ) ) )

X1

X3

X4

X5

X1
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44.316

s 16.673 298
33.583 o
s 14.702
X
Y1l 5.800 x 0.25 x 2.730 = 3.959 0.000 = 0.000
Y2 2.400 x 0.70 x 0.910 = 1.529 0.910 = 1.391
Y3 2.400 x 0.70 x 0.910 = 1.529 2.730 = 4.174
Y4 5.800 x 0.25 X 3.640 = 5.278 3.640 = 19.212
Y4 2.400 x 0.70 x 1.820 = 3.058 3.640 = 11.131
Y5 5.800 x 0.25 x 0.910 = 1.320 6.370 = 8.408
b2 = 16.673 = 44.316
y
X1 5.800 x 0.25 x 1.820 = 2.639 0.000 = 0.000
X1 3.900 x 0.35 x 0.910 = 1.242 0.000 = 0.000
X2 2.400 x 0.70 x 1.820 = 3.058 0.910 = 2.783
X3 5.800 x 0.25 x 0.910 = 1.320 2.730 = 3.604
X3 3.900 x 0.35 x 1.820 = 2.484 2.730 = 6.781
X4 5.800 x 0.25 x 1.820 = 2.639 4.550 = 12.007
X5 5.800 x 0.25 x 0.910 = 1.320 6.370 = 8.408
> = 14.702 = 33.583
70.685
s = 9374 - 2408
124.212
> TR ETRR
X
Y1 5.800 x 0.70 x 1.820 = 7.389 0.000 = 0.000
Y1l 3.900 x 0.80 x 0.910 = 2.839 0.000 = 0.000
Y2 2.400 x 1.00 x 0.910 = 2.184 3.185 = 6.956
Y3 5.800 x 0.70 x 3.640 = 14.778 3.640 = 53.792
Y4 2.400 x 1.00 x 0.910 = 2.184 4550 = 9.937
b2 = 29.374 = 70.685
y
X1 5.800 x 0.70 x 3.640 = 14.778 0.000 = 0.000
X2 5.800 x 0.70 x 1.820 = 7.389 2.730 = 20.172
X2 3.900 x 0.80 x 0.910 = 2.839 2.730 = 7.750
X2 2.400 x 1.00 x 1.820 = 4.368 2.730 = 11.925
X3 2.400 x 1.00 x 1.820 = 4.368 5.460 = 23.849
X4 5.800 x 0.70 x 1.820 = 7.389 8.190 = 60.516
> = 41.131 = 124.212
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y= s- g = 2.658 -2.595 =0.063
X= s- g = 2.284 - 2.742 = 0.458
y= s- g = 2406 -2.507 =0.101
X= s- g = 3.020 - 3.259 = 0.239
S Lx(Y-Ys)?= 58.877
> Ly(X-Xs)’=  62.365
X s
Y1 3.959 x ( 0.000 - 2.658 )* = 27.970
Y2 1.529 x ( 0.910 - 2.658 ) = 4.672
&) 1.529 x ( 2.730 - 2.658 ) = 0.008
Y4 5.278 x ( 3.640 - 2.658 ) = 5.090
Y4 3.058 x ( 3.640 - 2.658 ) = 2.949
Y5 1.320 x ( 6.370 - 2.658 ) = 18.188
s 16.673 T Lx(Y-Ys)® = 58.877
y X Xs
X1 2.639 x ( 0.000 - 2.284 )2 = 13.767
X1 1.242  x ( 0.000 - 2.284 ) = 6.479
X2 3.058 x ( 0.910 - 2.284 ) = 5.773
X3 1.320 x ( 2.730 - 2.284 ) = 0.263
X3 2.484 x ( 2.730 - 2.284 ) = 0.494
X4 2.639 x ( 4.550 - 2.284 ) = 13.551
X5 1.320 x ( 6.370 - 2.284 ) = 22.038
b3 14.702 T Ly(X-Xs)? = 62.365
> Lx(Y-Ys)?=  93.076
T Ly(X-Xs)?= 359.513
X S
Y1 7.389  x ( 0.000 - 2.406 )’ = 42.774
Y1 2.839 x ( 0.000 - 2.406 ) = 16.435
Y2 2.184 x ( 3.185 - 2.406 ) = 1.325
&l 14.778 x ( 3.640 - 2.406 ) = 22.503
Y4 2.184 x ( 4.550 - 2.406 ) = 10.039
b2 29.374 T Lx(Y-Ys)’ = 93.076



I"ex=%

ey

I’exz%

. M S Ly(X-Xs)%+% Lx(Y-Ys)>?

y X Xs
X1 14.778 x ( 0.000 - 3.020 )? = 134.781
X2 7.389  x ( 2.730 - 3.020 ) = 0.621
X2 2.839  x ( 2.730 - 3.020 ) = 0.239
X2 4.368 x ( 2.730 - 3.020 ) = 0.367
X3 4.368 x ( 5.460 - 3.020 ) = 26.005
X4 7.389  x ( 8.190 - 3.020 ) = 197.500
s = 41.131 S Ly(X-Xs)? = 359.513

359.513 + 93.076

Iey S Ly
_y _ 0.063 _
ex= = = 0.023
ex 2.697
0.458
ey= X - = 0.159
ey 2.872
0.101
ex= y - = 0.026
ex 3.925
X 0.239
ey= = = 0.072
Y ey 3.317
X 1.00
Y 1.00
X 1.00
Y 1.00
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> Lx(Y-Ys)*S Ly(X-Xs)? [ 58.877 + 62.365
T Lx 16.673
_ T Ly(X-Xs)*+¥ Lx(Yy-Yys)* _ [ 62.365 + 58.877
- T Ly 14.702
> Lx(Y-Ys)*+Z Ly(X-Xs)*> _ [93.076 + 359.513
3 Lx - 29.374

41.131

2.697

2.872

3.925

3.317



10 10
2 2 2
2
2
4 4 4
0.3mm
2 2 2
1 1
2
2 2 2
2 2 2
1 1
2 2 2
15 1
1 0.93
P E Pd Px ExD Qr
kN kN kN Pd Qr
X 2Px | 21.60 | 2Ex | 1.00 0.93 20.09 1.02
Qr | 19.69
Y 2Py | 19.63 | 2Ev | 1.00 0.93 18.26 0.93
X 1Px | 37.65 | :Ex | 1.00 0.93 35.01 1.06
Qr | 33.06
Y 1Py | 49.41 | 1By | 1.00 0.93 45.95 1.39
P E Pd Px Ex D Qr
kN kN kN Pd Qr
X 2Px | 21.60 | 2Ex | 1.00 0.93 20.09 1.02
Qr| 19.69
Y 2Py | 19.63 | 2Ev | 0.75 0.93 13.69 0.70
X 1Px | 37.65 | :Ex | 0.45 0.93 15.76 0.48
Qr | 33.06
Y 1Py | 49.41 | 1By | 1.00 0.93 45.95 1.39
1.33
2.22
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